CP101 YA4rOS520T

G R

J
)~
S\

Wi

W2

el

1Y%

WEB ﬁﬂclllb't“" ‘Bﬁ

S

IMAO
&k | F—L 0s
S45C SKH51
%“%w@ BABR | BABR
= MRILSkRNE | MRS

M R—=IbF vy TR 21—

g

]

Hi1

|

/BCR(P. 1810 £88)

®
[

B

==

M1 RARFELEDHRY

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239

9 I-KL-DaD



] % S |Wz | La| H|W]| L |W | L d |Si | H| P M
CP101-08040 | 53| 12 | 20 | 40 | 50 | 625/ 21 | 40 | 85| 6 | 10 | 35 | M4x0.7-10L
CP101-10050 | 7.1| 16 | 25 | 50 | 65 | 74 | 27 | 50 |11 8 | 12 | 45 | M4x0.7-12L
CP101-12060 | 8 | 20 | 30 | 60 | 70 | 91 | 31 | 60 |13 10 | 15 | 50 | M5X0.8-15L
CP101-16080 |10.2| 25 | 40 | 80 | 90 115 | 39 | 80 |17 15| 20 | 65 | M6X1 -20L

o 9707 | EESMNY | B2 o

AR & M Hi (kN) (N'm) (kg) O&m%E
CP101-08040 |M 8x1.25-35L| 32 15 25 0.33 || HSE-9126-SS
CP101-10050 |M10Xx1.5 -40L| 40 27 50 0.66 || HSE-9166-SS
CP101-12060 |M12Xx1.75-50L | 48 38 90 1.06 || HSE-9200-SS
CP101-16080 |M16Xx2 -60L| 64 46 130 2.38 || HSE-9250-SS

BRI - ERGE

RANRMERIVMIY=BE TRV %
fFDIAA TLIZE,
T TEOREDEABYEHIETEET,
%) CP101-08040- - ~AARMEARLLN M 4X0.7 - 6L

CP101-10050-{EE/ AR FEAIMM X1 -10L
CP101-12060-{EE B RFEAIMM 8X1.25-12L
CP101-16080-EEAARFEAIIMI0X15 -16L

) RBRFERIL

O£ HS - TyoJ")yiN—
HSE-SS (P. 1765 £ H8)

O&RZRAECT . TREABARERUNEBSL T S,
BT ORRIE O£ DE@EE 7 — LIS TR THZE0,

FEmR
TS 2f

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



